POWER TOOLS

IX

Premium Quality

RON

Portable Gasoline Generator 6000W

www.ronixtools.com



RONIX

Premium Quality

POWER TOOLS

www.ronixtools.com

Number | Name Number | Name Number | Name
2 alternator fan cover 42 european socket B16 metal Flange bolt GB/T6187
384 Alternator (including rotor and stator) 43 circuit breaker B17 flat washer GB97.2
5 alternator protect belt 44 earthing bolt essy B18 flat washer GB96
6 alternator End Cover 45 indicator lamp B19 Flange bolt GB5789
7 5kw AVR 46 voltmeter
8 Carbon Brush 47 V type DC socket
9 terminal plate 48 current switch
10 rotor bolt 49 electric switch
11 rotor flat washer 41 inlet gasket
12 rotor centre bolt 42 connecting block
13 5KW alternator or sleeve 43 carburetor gasket
14 rear cover 44 carburetor assy
15 air filter stay 45 air cheaner gasket
16 ex.pipe gasket 46 air cheaner assy
17 exhaust pipe 47 nut M6
18 unitary muffler stay 48 intake valve
19 unitary muffler 49 exhaust valve
20 genset fuel tank cover B1 Flange bolt GB5789
21 oil filter B2 Spring Washer GB/T93
22 oil gauge assembly B3 flange bolt
23 fuel tank B4 Spring Washer GB/T93
24 tubing clip B5 Flange nut GB6177
25 fuel pipe B6 Flange bolt GB5789
26 fuel switch B7 Spring Washer GB93
27 protective bar B8 hex nut GB/T6170
28 shocking absorb pad B9 Flange bolt GB5789
29 fuel tank liner B10 Flange bolt GB5789
30 fuel tank damping gasket B11 flat washer GB/T97.2
Handle & wheels (31-36, 39,40) B12 Flange bolt GB6177
37 guide plate sleeve B13 Flange bolt GB5789
38 vibrating rod damping block B14 flat washer GB96
41 rubber cone-shaped sleeve B15 cross truss head topping screws

RH-4760

Portable Gasoline Generator 6000W



RONIX POWER TOOLS

Premium Quality

- RH-4760

www.ronixtools.com Portable Gasoline Generator 6000W



RONIX

Premium Quality

www.ronixtools.com

Number | Name Number | Name Number | Name

1 bolt M8x38 33 intake valve 65 inlet gasket

2 oil seal 35x52x8 34 exhaust valve 66 connecting block
3 crankcase cover 35 bolt M8x34 67 carburetor gasket
4 oill filler cap 36 cylinder head comp 68 carburetor assy

5 case cover packing 37 lead wind cover 69 air cheaner gasket
6 dowel pin ¢8x14 38 stud bolt M10x80 70 nut M6

7 piston pin clip 39 exhaust valve spring seat 71 air cheaner assy

8 rod assy connecting 40 Valve Guide pipe oil 72 breather tube assy
9 piston pin 41 valve spring 73 governor arm shaft
10 piston 42 Exhaust valve seat 74 Qil seal

11 piston ring set 43 valve rotator 75 lock clip

12 radial ball bearing 44 head cover packing 76 governor spring

13 camshaft assy 45 head cover comp 77 governor arm bolt M6x21
14 crankshaft 46 stud bolt 78 regulating arm

15 radial ball bearing 47 String ring 79 throttle return spring
16 balance shaft 48 starter motor 80 governor rod

17 washer 49 stud bolt M8x35 81 speed control assy
18 governor gear 50 diode 82 washer

19 governor shaft 51 bolt M6x8 83 flange bolt M6x12
20 lock nip 52 charging coil 84 Exhaust gasket

21 governor kit 53 bolt M6x30 85 Muffler joint pipe
22 flange boit M6x12 54 Wire Clamp 86 Sping washer

23 oil sensor 55 flywheel comp 87 Flange bolt

24 tappet 56 ignition coil

25 push rod 57 flange bolt

26 push rod guide plate 58 cooling fan

27 valve rocker 59 starter pulley

28 Crankcase 60 flywheel special nut M16x1.5

29 drain plug gasket 61 fan hood

30 drain plug bolt 62 recoil starter

31 dowel pin 63 spark plug(4197)

32 cylinder head gasket 64 flange boit M6x8

POWER TOOLS

RH-4760

Portable Gasoline Generator 6000W



